=5

18 GA PURLIN \ " —  2'x3" - 14 GA. RECTANGLE FRAME 12" 1.76" X 2.75" INSERT OVERALL REVISION DATE _
HIZIX VISR \r" - KARPAE 1o o - ir— b GENERAL NOTES OCTOBER 14, 2019 %
#12-14X 1-14* TEK SCREW VI ——12"1.76" X 2.75" INSERT | V] 3" - 14 GA. RECTANGLE FRAME COMPONENTS AND CLADDING [6%0=C. Gop1=0.00 [0pen]] el
OPTIONAL STEEL SIDING | L L / WELDED TO BASE RAIL | " SCREWED TO INSERT PRE%USE (PSF) 1. ALL CONCRETE WORK SHALL BE 3,000 P.S.I. AT 28 DAYS. — 5
LT penemomees | e, S o d e I iT E| 2
7 a & 18 || 2—1 I8 w/ 1/2' X 8" WEDGE ANCHOR AND 1/8 ] 2 3 ZEAVC RORVAL_L_ARAVEPRAEL]  ym THE 2017 6TH EDITION FLA, BLDG, CODE AND ASCE — o
f oo 1 — 2. - ] o el I | T e T4OMPH | 174 | 261 | 434 1 4175 | 213 [+170 | -208 7-10 WIND CODES FOR AN ULTIVIATE WIND SPEED OF 140 MPH AND GREATER. = &
—_ : ; SUPPLIED ; : T : EED THESE PLANS INCLUD
[ ] " X 3" TUBE ?;E&;UEE?( LQA-EESLE /\\ / =N r— _ | ; L T St 150 MPH | -19.9 29.9 499 | +200 | 244 |+195 | -238 s Ay St o byl SR L T i
\BOVE DO% LEéS W}"[2} #14 X 3/4" = Use “ WITHIN 10" OF EA. COLUMNS i 160 MPH | -22.7 -34.0 -56.7 +22.8 -27.8 +22.2 i -27.1 4. ALL SIDING AND ROCEING 1O MINIMUM OF 29 GAUGE
o Ratll s iy =8 dh— £ SCREWS PER FACE I | \ il pluolTsmeNeTH = 7,ds01ss. | 1/2* BOLT AND 1/2" OR LARGER ATTACHED TO THE COLUMNS AS SHOWN AND CONSIDERED TO LI
/-—-—-*"”" 5 OC OR CLOSER (TYP) \; / ) Bhe 1 T : % i e U i G - " VSR FONE LOGATIONS SEE FBC FIGURE 1609(c). THE f-
= 9 ﬁq "~ g i \.\\ 1 . XS 101 cl.
4) #12-14 X ﬁ¥ © = l.! ] onl —-\-=‘ EOMPACTER BRI UETMATE ROOF i VALLD . \é"‘é&%ﬁeﬂéﬂé E?ELJ{:E)%ENFGOEOZA%TN%%A&E}% Tsr-Ens SHEET, .
Tek ScRews o RAME "X 3' ROOF RAILING e = oo A - ANCHORS ] 2 3 RNCNORVAL L _ABAVCPARAIEL 2™ DESIGN LOADINGS: &
s |l 1 WOODDOORF 2"X 3R | x ]E@gg earipy 140MPH [ 213 | -300 | 474 | +214 | 252 [+209 | -247 DEAD LOAD = 4 PSF
i ' e MIN, 30" LONG AT 5' O.C. (MAX,) 150 MPH | -24.4 -34.4 544 | +245 | -289 |+240 | -283 ROOF LIVE LOAD = 20 PSF '
= ERITER IR HOLDING POWER IN NORMAL SOIL > WIND LOAD = PER TABLE =
TOP SECURED BY #12-14-1-1/4" SELF ROOF PUR I.l N (HAT C HAN N EL] TYP — ' ,000 LBS, EACH) (ATEACH COLUMY)  L1OMPH | 7.8 | 92 | 619 | +219 | 929 [+273 | 22 7. DOOR AND WINDOW DATA: PERTABLE S i @ <
. ISP His HEAD SRS & | COMPONENTS AND CLADDING (exp=C, gepi=+/-0.56 [Paridlly Enciosed]) TEK SCREWS IN LU OF THE WOOD SREWS WhEN
- T R C0 M N ERANE, NTS PRESSURE [PSF] CONNECTING THE UNITS TO METAL FRAME. FOLLOW THE
= : LAR SRS LA A B DIRT ONLY OPTION VELOCTY ZONE MANUFACTURERS SPECIFICATIONS FOR LOCATING CONNECTORS.
n T = TENSILE STRENGTH = 3,850 LBS. ULTIMATE ROOF WALLS 9 TYPE OF CONSTRUCTION TYPE II-B
o Y o > SHEAR STRENGTH = 2,575 L8S. 4 MIN. CONC. SLAB (3000 p sy — 1 2 S EACNORMAL L _ABNEPREIEL 7 pyDING CATEGORY (i
Bl Wi NO REINEORGING Wiya G RECTANGULAR TUB'NG Lot B R O O O W A = O S O 2 10. CORNER BRACES REQUIRED ONLY REQUIRED WITH WIND SPEEDS
N RENFORERS Wik haesii) TSOMPH | 337 | 436 | 636 | +338 | 381 | 1832 | 376 GREATER THAN OR EQUAL TO 150 MPH OR AS CALLED OUT ON PLANS. Q) z
[T 2" X 3" TUBE SECURED TO HEADER AND IONS OF SECT'ON A A : ‘ ' : . 11, ALL WELDS ARE CONTINUOUS WELDS DONE AT THE FACTORY. 2
INSERT SHOP WELDED r BOTIOM RAILING CONCRETE OP“@E VAR IAT i T6OMPH | 383 | -49.7 | -724 | +384 | 434 | 1378 | 427 12. ALL STEEL BUILDING MATERIALS ARE FLOOD RESISTANT AND WILL NOT 2z K
TO BASE RAIL W/ 2 X 2" ANGLE FASTENED TO LEGS W/(2) #12-14 X 3/4* AL i *+val figures updafed as of 5712157+ BE DAMAGED BY FLOOD OR RAIN. et §
- FASTEN POST TO INSERT o TEK SCREWS PER FACE 2:X 3t TUBING NTS Z || 2
= p|/_ W) AV TR BORENS i< o= — SECURE RAFTER LEG TO FLORIDA PRODUCT APPROVAL CHART = llex .
K j \ HEMER W 12 % ] g X oy PRODUCT APPROVAL NUMBER MANUFACTURER | DESCRIPTION < |= o
y 2'%3" RECTANGULAR TUBING INSERT AND (2) #12-14
| B O FOUNBATON & \mnom RAIL TO REMAIN — 50.C. 1 \ / X T a TEK SerEwa 2 ROOF {29.6A) FL11136.1 JELD-WEN PERSONNEL DOOR i G f_:
: < =
TYP FRAM'NG DETA“. END WALI_ 12" INSERT WELDED ——1 173 DiTaeE X—13 DisTCE* 8 DiTANCE U § I WIND SPEED VS. LEG SPACING Uz L
: TO FRAME AND CLADDING TABLE Lbu % *
NTS [ '] = £*
O s o 4 St DOOR INSTALLATION DETAIL TYPICAL TRUSS STYLE (SPANS OVER 40 . o P s
b H— EASTEN GARAGE DOOR BRACKET VELOCITY | a -
;ﬁsg]ﬁTS%LFFR)TQAI\gEIm’é}{%&%&%%n TS “%STE: SEE SECTION A-A FOR ANCHORING DETAILS | i / . R dp KT HERWEDRC I ULTIMATE IR BiEn | NGRS . % S
TENSILE STRENGTH = 3,850 LBS. (NOTE; ALL FRAMING SHALL BE 2'x3" RECTANGULAR TUBING) : FL9555.2, FL9555.3, FL9555.6 UNON SHEATHING 26 GA TE
SHEAR STRENGTH = 2,575 LBS, = ‘ FL14081.1 FABRAL SHEATHING 140 MPH 29 GA. 29 GA. % :
i y | i . 12° x 1-3/4" x 2-3/4" WELDED
Pl 50 .‘ ADD 2" X 3" JAjack “‘ k JNSET?T ﬂ{'P) X2 EH}%&%; EH }%ggg PALRAM SKYLIGHTS 150 MPH 29 GA. 26 GA. (D ﬂ m
2" X 3" TUBE FOR LEGS SPACED [ 1O SIDE OF CEOLUMN LEGS \ O FACTORY STITCH WELDED s : W m
5' OC OR CLOSER (TYP) oy Al ﬁ%“_’ﬁ%ﬁ., i I rxé 3x3 TRUSS HEADER 160 MPH 26 GA. - 5 % @
SCREWS STARRTING &' FROM BOTIOM TG ; 1, FLI2765.2, { s
2" X 3' TUBE SECURED TO LEGS AND THEN 12°3) O () Ofe H127655 127684, FL137688 | sas | ROLLUPDOOR 170 MPH 26 GA. ¢ o O
"X 2'ANGLE |3 o FL12765.6, FL12765.7, FL12765.8 —— ol
PASTENED TO LEGS W(2) 1. 1 08 R | LLI (}| exsineeren permirs, INc.
16 FASTENED TO LEGS W/(2) #14 X 3/4 | 0% FL15768 ! e G o=
TEK SCREWS PER FAC %z LLl 1 S0UTH HOODLAD 1D =
8-12' (VARIES : =
5 s i — GPTIONAL GARAGE DOOR < o =B
_ e - 2! X 3" TUBE SECURED TO T ————— ' A D M exsoo7s0528 Ui %
#1g ecscnew ’ el f : 8 | ] 22| | = [[ons s
T FILL ALL MANF, PRE-DRILLED / W/ 2" X 2" ANGLE FASTENED — 5-0" !.NMAX.} ‘.._.#__. 5.0 {W?*i* B0 (MAX,}—;— 5-0" (MAX.) — §-0" (MAX) —#—— 50" (MAX.) —%— 5-0" [MAX.} —— & LLd EMIL: epi@epieng nat O W
HOLES & TO LEGS W/(2) #14 X 3/4" 2-1/4" TUBE KNOTCH AND FASTEN ~— ——— ' . ' | e O T
= TEK SCREWS PER FACE 70 2" x 3" TRUSS TOP CHORD W/ Ll 70-0° (MAX) 5 ; , = > =
o Y - @3#1 2-14 % -1/4" TEK SCREWS BOTH (MAX, 5 i | % 5w
J IDES i =i 4'0.C. (MAX.) (TYP) ; 2t ! ! =0
STALLATION METAL SIDING : H : %
REAR OF LOUVER COVERED W/ ﬁﬁgﬁﬁyﬁﬁmﬁmﬁ BE ADDED TO MAKE WELD BOTH SIDES SHOP BENT OR 12" INSERT FASTENED W/ SIDE ELEVAT'ON W/ OPTIONAL SlDE GARAGE DOOR Ll T i g g é =
A S WEATHER TIGHT RN INTO HALE TRUSS PASTEIEAEC 6 vt NTS - I T 5 3 0z
2-1/4" SQUARE TUBE FASTEN TO WL 1 514K 1 T A e . DETAILS - Sl OOR | °© = =
FASTEN W/ (1) #12 X 2" COLIARTE w/ 2'x 2 ANGLE CLIP ¥ ARl 4" TEK SCREWS A NOTE: SEE SECTION A-A FOR ANCHORING DE i T s R = & Z 5
PANE%%R o — e A O LS TERRE = \_ WELD BOT & spes (NOTE: ALL FRAMING SHALL BE 2'x3" RECTANGULAR TUBING) = 5 L SEL E T %
SCR - = T i = T 3 s
2'x 3" 14 GA TUBE _—2"x 3" 14 GA TUBE ¥ 4 OPTIONAL GARAGE DOOR N g g £ e 2 3
CODE REQUIREMENT 1 IN' PER FT° OF ENCLOSED BUILDING . e Z 3 = g e - 5 Zod & ol
HOP WELDED TO TRUSS TOP CORD e el e 1] i L i TO
TOTAL ENCLOSED BUILDING = 600 FT WlNDOW “\)TAI.I.A.”ON DETA”. iN%PBC}]TOM CORD \ 2‘”‘1"'&2‘%‘,1" S%’gfﬂﬁg}ﬁ??}“ ﬁ‘cw}D_ 1/4" ?gNRé;PESS%QE;VéTﬁE ;,?3301 L}ifs SRR T 10 E l| g E i ?j-’ w CZ)
EQUIVALENT FLOOD OPENING = 192 IN' EACH (25% REDUCTION DUE TO FINS) ¢ FASTEN 10 2'x 2° JUBE w/ L i H = s ~ 8 <O
= 144 IN'EACH . 5 WELD BOTH SIDES COLUMN SCREWS 12-14x1-1/4" - L= = O =
TOTAL PROVIDED (8)= 720 IN SR ; 2 - TENSILE STRENGTH = 3,850 LS. =50 O =&
12'-1.75'X 2.75" 14 GA . SHOP WELDED 10 TRUSS TOP CORD >3 i G i SHEAR STRENGTH = 2,575 LBS. B em] —Hue
<7, . = SHOP WELDED TO TRU SN 12'-1.76"X 2.75" 14 GA { 50 FT (MAX.) —< &3 = o) =
FLOOD OPEN'NG DETA”. ONLY USED WHEN INSERT WELDED TO BEAM AND BOTIOM CORD ! INSERT WELDED TO BEAM o I — LS oS oJ
" x 2' 14 GA TUBE SHOP BENT AND i - ; H—S L ek
FINISH FLOOR IS BELOW BFE] ; WELDED 1 80TIOM CORD BB e srop BNt AND — ! AT 46" O.C. (MAX) FRONT ELEVATION E 5 % E %
NT ] m)
s ALTERNATIVE TRUSS RIDGE VE N 4 o
@)
- ; 29 GA., STEEL ROOF (SUPPORT WITH SIDING) o =
NTS {NOTE: FOR SPANS GREATER THAN 32) B NOTE: SEE SECTION A-A FOR ANCHORING DETALS = S
= (NOTE: ALL FRAMING SHALL BE 2'x3" RECTANGULAR TUBING) LT T Wi o
e ' c E |lag
' ROOF TRUSS CONT, FACTORY WELDED | 121 c i _
= INSERT IN MIDDLE SECTION . | e H | FRAMING o 18 GA HAT CHANNEL o = i
! [ FASTEN W/ (2) #14 X 1-1/4 |
OR SHOP BENT 20 GA. PURLIN Ll - =
i X (vP.) f [ L (3] ON CEAN O SibE- 8% Z &
: ) 0
SECTION SECURED WITH I T § z|: 51
HEX HEAD SCREW, #12/14 X 3/4" " x 2° " CHANNEL | S % =7
FOR AL FRAMING. = Z \ SO e ALL END BRACKETS  ——fH——————F| E I N 2 3 TRUSS FRAMING e o=
TENSILE STRENGTH = 3,850 LBS SERFORMED STEEL L H H i 1 o 1 =2
SHEAR STRENGTH = 2,575 LBS /*\ PERFORMED STEEL | - 11 g 18GA GALVANIZED 2 1 CHANNEL S
> TENSILE 55,000P51. 1) ¥ Il BOTH SIDES W/ (2) #12-14 X 1-1/4" SCREWS ] WU, 1S
AR ®, ; I T PER SIDE OR 2' X 2'x 14 GA g =2 : 7 i ¢
Z %> - o g T e WELDED IN PLACE (1YP) § g S A (% 3(: =
4 2 - = : R e N
L 5 s SO s NON P A
L 5.0 t—— 50" (MAX.) —%———— 5.0" (MAX)) ORI 1B == - 2'x 2" "' CHANNEL COLLAR TiE REQUIRED £ 3 S ol r:p';f;, % 2 ,C:)
] }— 50" (MAX) — 0" (MAX. : FOR SPANS GREATER THAN 26' s ¥ Sa'Y oo 2 =g
j PLACED 1/3 DOWN FROM PEAK o SWis A" >S
= RO PICHVAREES ALTERNATE SECTION END WALL FRAMING SR 5 ae
| 11270 3/12 : ) & A RO RS L L
NTS (NOTE: SEE SECTION A-A FOR ANCHORING DETAILS) (NOTE: COLLAR TEE REQUIRED FOR SPANS Z » /ODFW\\ & - T
GREATER THAN 26)) ’ “1,JOF yaALN W 5
A ALY o
Trpppny <
] . =)
\L\/\;Je L b L ! Z %
ZR\, T _— SIDE PURLINS ONLY USED WHEN S . L
\i\l SIDING 1S VERTICALLY INSTALLED 23" RECTANGULAR, 14 GA. TUBING (TYP.) [ 50 FT (MAX) ‘{ % E
A 4 feumus ever o v, COLLAR TIE DETAIL AND POST BRACING DETAIL G
BRACKET (TYP) ROOF AND SIDES ( o
<
ALL SIDE FRAMES I| HEX HEAD SCREW & 14GA. GALVANIZED NTS e -
Zs 23", 14 GAUGE ) —— WELDING TABLI 4-#12-14 SELF TAPPING < Lyl A NOTE: SEE SECTION A-A FOR ANCHORING DETAILS N %
A R, S P i - (NCTE: ALL FRAMING SHALL BE 2'x3" RECTANGULAR TUBING) 5 52
TENSILE 55,000 P.S. e ( ) _ é‘ = o
! b : 2 a0
| TT——— 2'%3" 14 GA VERT COLUMN [ 14GA. GALVANIZED / \ z §|| ®£a
BASE RAL SIALLOVER 1 76/%2.75% X 12° e e X E & 5 &
2%3'%20' LONG, (EXPANDABLE AT 14GA GALV TUBING /e_HL S 3|l W
4' INCREMENTS) 14 GA. STEEL WITH Lol s S 3| mn
1-3/452-3/4%1 2" RALL STANCHIONS B = % 3| o n
WELDED AT §' O.C, : et | T (i
R, o=t | - : f $oi|l &3
i o | O TRUSSAWIND BRACKET CONNECTIONS b - : 551 o
60*58; NOTE: ALL BRACKETS ARE 14GA. FASTEN R G m m b =&l Qu
ey, TO FRAME W/HEX HEAD SCREWS e s = 1 2t
D m———— #14 X 1-1/4" SELF TAPPING = = : =5
& O.C. MAX) ONLY IF REQUIRED TENSILE STRENGTH = 3,850 LBS. m L L'e)
USED ON NON- CONC FOOTINGS) SHEAR STRENGTH = 2 575 LBS. = o . =2
— 14GA, GALVANIZED ; SIDING (29 GA.) = - . 03
D1 caymcouma SRR e e § . : .
INSTALL OVER 1,75'X2.75" X 12" / SER s AR i - | | 2_ ®)
14GA GALY TUBING AT 9" O.C, AT EACH FRAME. e - | ¥
POST SLEEVE 5 |
14GA BRACKET , ! :
- BASE RAIL X2 H .. .
TDe o gy, Do | | |
1-3/4%2-3/4°X1 2" RALL STANCHIONS 2) #12-14 X 1-14° TEK o |
R O QL MR S R e PR b 50" (MAX) 5-0" (MAX) 5-0" (MAX.) 50" (MAX.) —
UNL”V”TED X 50' MAX MODEL S Y & ***SIDING MAY BE FASTENED WITH SEAMS E
. THGILE D, COR Pk  HEXHEAD SCREW & & IN EITHER VERTICAL OR HORIZONTAL DIRECTION#** MASTER PLAN DATE SIEETNO.
, N 4] #12-14 X 1-1/4" TEK
ALL FRAMING SHALL BE 2’3" RECTANGULAR TUBING) D 0 e NN AT ™ o OCTOBER 14, 2019
NOTE: WHEN OVER 26' IN WIDTH USE COLLAR TIE DETALL PERIVETER FX T Sorews ° L T DESIGN STATEMENT.
e e Eﬁfﬁ%ﬁﬁgﬁm b/ o SIDE ELEVATION THESE PLANS WERE DESIGNED FOLLOWING THE
RIS ‘ o 2017 6TH EDTION FLORIDA BUILDING CODE
| SUPPORT WITH SDING) DESIGN, AN ULTMATE WIND SPEED ORYA0 WP A GREATLA 3 SN 057 1 & 1
5 DESIGN, AN ULTIMATE WIND SPEED OF 1 (3¢
. WIND EXPOSURE CATEGORY 'C". THIS STRUCTURE HAS BEEN DESIGNED
BOTTOM RAIL CONNECTION (TYP) TOP RAIL "CONNECTION (TYP) ANGLE BRACKET DETAIL OTE; SEE SECTION A+A FOR ANCHORING DETALS HND EXPOSRE CATRCORY G- S SUCIUE HASEEN DESGHED.
NS (NOTE: ALL FRAMING SHALL BE 2'%3" RECTANGULAR TUBING) | BASED ON A WIND PRESSURE PER THE TABLE THS SHEET TS SIRUCTURE
NTS NTS NIS HAS BEEN DESIGNED AS AN ENCLOSED STRUCTURE UNLESS NOTED AS OTHER,
& RS = — 10./14/2019 10:34:32 AM M:\Reeds Mefals Inc\Wetal 2x3 14 GaugeWetal prototype\Reeds Metal Prootype Bullding 2017 Code.dg

T N | Il ||

B Y I Y B




